Kopings BS
KAK-serien 2:1 2022-09-20

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 1 151 Lars Lundgren - Tommy Larsson 10275 7934
2 4 1.49 Thomas Ekendahl - Barbara Ekendahl 17307 52284
3 203 1.36 Anders Eriksson - Birgitta Samuelsson 2624 15036
4 304 1.29 Lars Pettersson - Ake Persson 8229 87028
5 2 1.28 Ove Bergman - Allan Hagman 3721 87038
6 303 1.07 Borje Karlsson - Rolf Pettersson 13521 31786
7 301 0.89 Gisela Sjoholm - Inge Johansson 53325 53324
8 102 0.40 UIf Nilsson - Bo Forslund 11234 8014
9 302 -0.40 Eivor Bladh - Ann-Marie Uddqvist 14545 17373
10 101 -0.89 Lars Andersson - Anders Algotson 4040 87693
11 103 -1.07 Ove Gustavsson - Vilnis Indersons 21398 2644
12 202 -1.28 Pererik Akerberg - Sivert Hedstrém 2650 37561
13 104 -1.29 Johnny Ramsten - Maria Grén 90802 28267
14 3 -1.36 Jan Larsson - Britt-Lis Elf-Lantz 46385 53560
15 204 -1.49 Lars Marjoniemi - Jorgen Lundberg 14508 7657
16 201 -1.51 Marita Indersons - Hakan Westberg 13502 93301
1 & K9653 Bésta kontrakt 2 4932 Bésta kontrakt 3 & EK943 Bésta kontrakt
Nord vED2 2NT O =-120 Ost v DKn6 54 O =-450 Syd v K852 24V =-90
Ingen + 104 NS + KD63 ov + KKn92
*765 & ¢ v & NT *732 & ¢ v & NT »- & ¢ v & NT
a2 4« EDKn4 N6 36675 4 KKn10865 4E74 N4 4422 4D 4 Kn1085 N56 776
v 943 v K75 S 6 3665 v 1075 v EK2 S 44422 v Kn97 vED10 S566 76
¢+ KKn963 ¢ D752 079778 +9 ¢ Kn1085 08 7 8 1110 +D10853 +¢ 64 087657
#KD83 42 V797738 D108 »EK6 vV 8 7 8 1110 #KD32 #E984 V876057
41087 D 4762
vKn1086 v 9843 v 643
¢+ E8 ¢ E742 ¢ E7
#EKn109 #Kn954 #Kn10765
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 204 3NO-1 #A 50 33.0 -33.0|101 301 3NO+1 &5 -430 80 -80| 1201 14 N+2 ¢6 140 31.0 -31.0
102 302 2¢ O= vJ -90 40 -4.0|102 302 3NO+1 4 -430 8.0 -8.0(103 303 24 N+1 «J 140 31.0 -31.0
2 202 2¢ O+1 ¥J -110 10 -1.0(104 304 44 V+1 43 -450 1.0 -1.0|102 302 14 N+1 ¢6 110 26.0 -26.0
3203 3¢ O= +¢8 -110 10 -1.0| 1201 3NO+2 #4 -460 1.0 -1.0|104 304 44 N-1 +6 -50 1.0 -1.0
101 301 4¢ O= 4T -130 -6.0 6.0 3 203 44 O+2 48 -480 -6.0 6.0 4204 3#0= a7 -110 -10.0 10.0
103 303 3¢ O+1 ¢A  -130 -6.0 6.0|103 303 44 V+2 &7 -480 -6.0 6.0(101 301 44 N-3 &#A -150 -16.0 16.0
104 304 4¢ O= T -130 -6.0 6.0 4 204 3NO+3 4Q  -490 -6.0 6.0 3 203 34DN-3+46 -500 -63.0 63.0
1 201 34 N-4 2 -200 -21.0 21.0
4 » K1063 Bésta kontrakt 5 # KDKn7 Bésta kontrakt 6 4« D106542 Bésta kontrakt
Vast v3 ANT V =-630 Nord vD2 3v O =-140 Ost vE 5¢ O =-650
Alla + Kn107642 NS *4 ov + 1094
»43 & ¢ v & NT #Kn109832 & ¢ v & NT #954 & ¢ v & NT
4D975 4 EKn2 N27542 4E3 49864 N7 6 466 49 4 EKn N22274
vKn874 v952 S 27542 vKn9743 v 1065 S76 466 v 107652 vKD93 S22274
¢ED +3 O 104 8 8 10 ¢ EKn8 ¢+ KD9 066 9 6 7 ¢ KKn63 ¢ D82 O 1010116 6
*E95 #KDKn1082 V 104 8 8 10 #754 #EKD V66967 #E73 #KDKn6 V 1010116 6
484 41052 4 K873
v EKD106 v EK8 vKn84
+ K985 ¢ 1076532 ¢ E75
*76 *6 #1082
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr Ut Res Poéang
4 204 54DV -1v3 200 67.0 -67.0| 2 202 4y O-1 6 50 38.0 -38.0| 1201 5vO0-1 44 100 57.0 -57.0
102 302 54V-2 ¥3 200 67.0 -67.0 1 201 INV= &J -90 10.0 -10.0|104 304 44 N-3 ¥¢K  -150 37.0 -37.0
1201 24V +2 ¢3 -130 26.0 -26.0| 4 204 INV= &K -90 10.0 -10.0| 3 203 4y V= 44 -620 -19.0 19.0
104 304 34V +1 ¢3 -130 26.0 -26.0|104 304 INV= &J -90 10.0 -10.0| 2 202 4y V+1 44 -650 -25.0 25.0
101 301 3vDS-2 #«A -500 -30.0 30.0({102 302 2NO= T -120 20 -20| 4 204 4vy O+1 #8 -650 -25.0 25.0
2 202 3NV+1 +4 -630 -52.0 52.0|101 301 3y V= &K -140 -3.0 3.0(102 302 4y V+1 4T -650 -25.0 25.0
3203 3NV+1 3 -630 -52.0 52.0|103 303 34 N-2 #A -200 -13.0 13.0
103 303 3NO+1 +J -630 -52.0 52.0| 3 203 4v O= 6 -420 -54.0 54.0
7 4109 Basta kontrakt 8 4 KD104 Basta kontrakt 9 4 Kn8532 Basta kontrakt
Syd v EKKn7 64 VD-41100 |Vast vD32 44 V =-420 Nord vD4 5¢ OD-1200
Alla + KD5 Ingen + 84 ov + 85
#EDKnN8 & ¢ v & NT #Kn1082 & ¢ v & NT #KD42 & ¢ v & NT
4 DKn5432 & EK87 N 1212125 7 4 865 4 EKNn732 N6 46 34 46 a4 N 101 1 101
v 932 v 10865 S 1212125 7 vE105 v84 S 646 34 v K82 vEKn9763 S 101 1 101
4982 +3 000080 ¢ EKD106 ¢ 95 07 9 6 108 ¢ K107643 ¢ ED92 O 2 10103 3
*2 #10975 V0O0OOS8O #96 «KD54 V79 6 108 2983 #106 V 2 10103 3
46 49 & EKD1097
vD4 v KKn976 v 105
+ EKn10764 + Kn732 +Kn
*K643 #E73 #EKN75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 202 64 S= 4J 1370 89.0 -89.0| 3 203 3NV-3 v2 150 47.0 -47.0| 1 201 44 N= vA 420 29.0 -29.0
4 204 3NN+4 v5 720 11.0 -11.0| 1 201 34 O-2 ¥v6 100 38.0 -38.0| 2 202 44 S= v2 420 29.0 -29.0
3 203 5¢ S+2 &2 640 -20 2.0[104 304 24 O= 2 -110 00 00| 3203 44S= v8 420 29.0 -29.0
101 301 5¢ S+2 &2 640 -20 20| 4 204 34 0= v6 -140 -7.0 7.0 4 204 44 S= vK 420 29.0 -29.0
104 304 5¢ S+2 &2 640 -2.0 2.0(101 301 34 O= v¥6 -140 -7.0 7.0[(102 302 44 S= vK 420 29.0 -29.0
103 303 5¢ S+1 «Q 620 -80 80| 2202 2vS-3 ¢A -150 -7.0 7.0[101 301 34 S+1 ¥vK 170 -15.0 15.0
1 201 3BNN= 48 600 -10.0 10.0|103 303 3v S-3 ¢A  -150 -7.0 7.0[/103 303 5¢ O-1 «A 100 -29.0 29.0
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102 302 4¢ S+2 «Q 170 -76.0 76.0|102 302 44 O= 9 -420 -57.0 57.0|104 304 5v O+1 ¢J -680 -101.0 101.0
10 « EKD4 Basta kontrakt 11 «E4 Basta kontrakt 12 « KD62 Basta kontrakt
Ost vE762 5# O =-600 Syd v E862 34 V =-140 Vast v 1086 5v V =-450
Alla +D1043 Ingen ¢ EKn73 NS + D962
*6 & ¢ v & NT *K76 & ¢ v & NT #Kn9 & ¢ v & NT
a7 » 986 N26 885 «KD963 «Kn87 N46 845 41073 4E9 N53144
v 954 vK3 S26885 v3 vKD9 S46845 vKD743 vEKn9 S53144
¢ EK92 ¢ 76 O 117 4 4 7 +D984  ¢105 096598 ¢E ¢1087543 O 8 10117 9
#KDKn94 #E108752 V 117 4 4 7 #953 #EDKN102 V 9 6 5 9 8 #K653 #E8 vV 8 10117 9
4 Kn10532 41052 4 Kn854
v DKn108 v Kn10754 v52
+ Kn85 ¢ K62 ¢ KKn
3 *84 «D10742
Par Kontr ut Res Poéng Par Kontr ut Res Poéng Par Kontr Ut Res Poéng
2 202 24 S= &K 110 45.0 -45.0 (104 304 44 0O-3 vJ 150 21.0 -21.0(102 302 4y V-1 #J 50 74.0 -74.0
1201 44 S-1 #K -100 100 -10.0| 4 204 2v N+1 T 140 21.0 -21.0| 2 202 4v V= &K -420 -6.0 6.0
3 203 34 S-1 &K -100 10.0 -10.0 (101 301 2v S+1 ¥3 140 21.0 -21.0(101 301 4v V= &K -420 -6.0 6.0
4 204 34 S-1 +A  -100 100 -10.0| 3 203 2y N= T 110 140 -14.0(104 304 4v V= v8 -420 -6.0 6.0
102 302 44 S-1 «K  -100 10.0 -10.0 (103 303 2vy N= &7 110 140 -140| 1 201 4vV+l v6 -450 -14.0 14.0
103 303 34 S-1 ¢A  -100 100 -100( 2 202 2#0= vJ -90  -25.0 25.0( 3 203 4y V+1 &J -450 -14.0 14.0
101 301 44 S-2 ¢A -200 -11.0 11.0(102 302 2#O+1 ¢K -110 -30.0 30.0| 4 204 4v V+1 &K -450 -14.0 14.0
104 304 54DV= «A -750 -840 840 1 201 24 V+1l v3 -140 -36.0 36.0|103 303 4v V+1 9 -450 -14.0 14.0
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